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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the output of the following MS-Excel formula?

=SUMSQ(1,2,3,4,5)
Options:

1.¥55

2. %10

3. %15

4. % 35

Question Number : 1 Question Id : 2549896251 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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=SUMSQ(1,2,3,4,5)
Options :
1.+ 55

2. %10



3.% 15

4. % 35

Question Number : 2 Question Id : 2549896380 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An electronic spreadsheet or worksheet is made up of and , and filled with numerical

or textual data.
Options :

1. ® rows, charts

2. * columns, charts

3. # columns, drawings

4. % rows, columns
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® 3, Irég

2. % PicH, T1éd
3. ¥ oplard, SIET

4, A, hlcH
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MODEM is shortform of .
Options:

1. * Model Emulator

2. # Modern Emulator

3. * Modulator Emulator

4. ¥ Modulator Demodulator

Question Number : 3 Question Id : 2549896573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

afag (MODEM) &1 dfed &9 21

Options :

1. ¥ dieel YR

2. % Hed gRe

3. ¥ AISYIER Tl

4. v sisgries Reftegeies

Question Number : 4 Question Id : 2549896877 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following holds the ROM, RAM and CPU slot?
Options:

1. ¥ Hardware

2. # ALU

3. ¥ Mother board

4. % Compact disc

Question Number : 4 Question Id : 2549896877 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A+ # § & ROM, RAM 3R CPU il 3&dT 8?

Options :

1. ¥ gréamw

2. % ALU

3. ¥ AR SIS

4. ¥ prae T

Question Number : 5 Question Id : 2549896945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A low-level language made up of binary numbers or bits that a computer can understand is also

knownas
Options:

1. % assembly language
2. ¥ machine language
3. ¥ spaghetti code

4. # source code
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
1. % IrZaelt AN

2.+ AfT 9T



3. ¥ Wil sre
4. ¥ GrY hls

Question Number : 6 Question Id : 2549896984 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The patterns of printed lines which are, machine readable and are represented data by varying the

widths and spacings of parallel lines, on most products are called:
Options :

1. * prices

2. % striping

3. % scanners

4. % barcodes

Question Number : 6 Question Id : 2549896984 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % fHyd
2. % feft
3. ¥ g
4. ¥ IRGIS

Question Number : 7 Question Id : 2549897045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Once an e-mail has been sent, it is moved from the outbox folder tothe __ folder.
Options:

1. ®¥ spam

2. % draft

3. # starred

4. ¥ sent

Question Number : 7 Question Id : 2549897045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % @y
2. % g
3. % w8
4, ¥ e

Question Number : 8 Question Id : 2549897558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is called as the Brain of Computer?
Options :

1.+ CPU

2. % SOFTWARE

3. * HARDWARE

4. * 1/0 Devices



Question Number : 8 Question Id : 2549897558 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ZH 9 I 9T heR ol AfKISh (Brain) hgairar 82

Options:

1. ¥ e TR0l 3618 (CPU)

2. % o

3. ¥ gEaRR

4, = 1/0 Devices

Question Number : 9 Question Id : 2549897712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A refers to a magnetic disc housed in a square plastic container.

It comes in two sizes:
(a) Size: 3.5 inches, 1.44 MB storage capacity
(b) Size: 5.25 inches and 1.2 MB storage capacity.

Options :

1. * Hard disk drive
2. % CD

3. ¥ Floppy disk

4. % Pen drives

Question Number : 9 Question Id : 2549897712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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(a) MMHR: 3.5 £9, 1.44 MB HERUT (TRST) &HdT
(b) SR 5.25 71 3R 1.2 MB $SRUT (TR) erar
Options :

1. ¥ gre e g”ga

2. % CD

3. ¢ T feeen

4. % U7 grgd

Question Number : 10 Question Id : 2549897887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What happens when you select a cell in MS-Excel and type "=A55"?
Options :

1. % The selected cell will show the value that is contained in cell A55
2. ¥ The selected cell will show error

3. #* The selected cell will show =A54

4. % The selected cell will be blank

Question Number : 10 Question Id : 2549897887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STe 3T MS-Excel & Ueh T ol T hd & 3R "=A55" 213U &d & dl o1 glidT 87
Options :

1.« 9gf9d I g 94 @ st 9« ASS5 J [Afga 81

2. % Zgfag O« oR feama|

3. # gyfAd A1 =A54 fezarqmm|



4. % Zgfag 9 R ghmi

Question Number : 11 Question Id : 2549898393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which function returns the arc cosine of a number in MS Excel?
Options :

1. # ARCC function

2. ¥ ACOS function

3. ¥ ARCOS function

4. % ARCCOS function

Question Number : 11 Question Id : 2549898393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & hl=T T therRTH Teh G&AT T 31Teh hidTs (arc cosine) a1 8?
Options :

1. # ARCC M

2. ¥ ACOS therrH

3. ¥ ARCOS tharH

4. ¥ ARCCOS thar™E

Question Number : 12 Question Id : 25498929712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Flash memory is a low-cost, high-density, non-volatile computer storage chip that can be

erased and reprogrammed.



Options :

1. ® physically

2. * digitally

3. ¥ magnetically

4. ¢ electrically

Question Number : 12 Question Id : 25498929712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TAST AARY eh ohH ARTd dTett, I g-cd dTet, TR-Ileieisd hger Wik 9 g o fAerar 3R g oo
fohaT ST FehdT B

Options :
1. % difdr =
2. % Bcawu g

3. ¥ gachig g &
4. faga ®u 9

Question Number : 13 Question Id : 25498929885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

IPv6 addresses have a size of:

Options :

1. #¥ 16 bits

2. #* 32 bits

3. ¥ 128 bits

4. % 1024 bits

Question Number : 13 Question Id : 25498929885 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

IPv6 USH <Rl 3TTHIY BidT &:

Options :

1. ® 16 foca

2. % 32 fem

3. v 128 facH

4. % 1024 ™

Question Number : 14 Question Id : 25498933088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first graphic tablet used by a computer for handwriting recognition was:
Options :

1. * Wacom tablet

2. ®* Quantel Paintbox

3. ¢ Stylator tablet

4. % Acoustic tablet

Question Number : 14 Question Id : 25498933088 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® dopid ¢dele
2. ¥ gaicet dediey
3. ¢ fReeR Eaele



4. % Uapliteeh caaic

Question Number : 15 Question Id : 25498934232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the smallest memory size unit:

Options :

1. % TB

2. ¥ Byte

3. % MB

4. % GB

Question Number : 15 Question Id : 25498934232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

& B¢l AARY AR (size) 313 A

Options :

1. % TB

2. ¥ dI5c

3. % MB

4. % GB

Question Number : 16 Question Id : 2549898156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
typically relies on particular security measures to determine who should have access.

Options:



1. % Control panel
2. % Access control
3. # Access denial

4. % A program

Question Number : 16 Question Id : 2549898156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % {95501 99 (Control panel)

2. ¥ ugg fAg=01 (Access control)

3. ¥ Ugg kR (Access denial)

4. % g (Program)

Question Number : 17 Question Id : 2549899605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following printers is the slowest?

Options :

1. * Dot matrix

2. ¥ Daisy wheel

3. * Laser

4. # Inkjet

Question Number : 17 Question Id : 2549899605 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
fAfafea & 9 -1 ik g o 82
Options:

1. ® e Afeay

2. ¥ SSit =gt

3. ¥ doR

4. % Fepoic

Question Number : 18 Question Id : 25498910774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is a monochrome printer?

Options :

1. % A wired printer

2. # Asingle page printer

3. * A colour printer

4. ¢ A printer using only black ink

Question Number : 18 Question Id : 25498910774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % o qIs iR

2. ® gop et e fiiex

3. ¥ U thelk fliex

4. + had STl Wl &l IUTNT T aTdT Teh {Uie




Question Number : 19 Question Id : 25498911211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS Excel, text function is used to combine values from different cells into a single cell.

Options :

1. % SUM()
2. % ADD()

3. ¥ MERGE()

4. ¥ CONCATENATE()

Question Number : 19 Question Id : 25498911211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel &, ____ ¢oRe thar ol IualT fafas 9« & A1 (values) ol Ueh S d GifSid & & g fohar siran
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Options :

1. % SUM()

2. % ADD()

3. * MERGE()

4. " CONCATENATE()

Question Number : 20 Question Id : 25498913416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following features of MS-Word 2007 suggests other words with a similar meaning to

the word that is selected?
Options :

1. % Spelling & Grammar



2. % Thesaurus
3. # Research

4. * Translate

Question Number : 20 Question Id : 25498913416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gd- 3R =TT (Wil s ImR)
2. ¥ fERy

3. % IrgEyH (Re)

4. % Srgar (gfecie)

Question Number : 21 Question Id : 25498918473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following papers is designed to be used with a dot matrix printer?
Options :

1. % Continuous computer paper

2. ¥ Dotted paper

3. # Separated plain paper

4. # Bond paper

Question Number : 21 Question Id : 25498918473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SHIYIF FYR TR

2. % SRS IR

3. % JUT wH TR

4, ¥ gig tR

Question Number : 22 Question Id : 25498918554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default value of the ‘Work Group Name' parameter when you install the Windows 10
operating system?

Options :

1. # USERGROUP

2. ¥ WORKGROUP

3. * ADMINGROUP

4. * SUPERGROUP

Question Number : 22 Question Id : 25498918554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STe 39 Windows 10 SiTaRfé fkes wenfud (3%ie) oed 8 af '&rd ag 9 (Work Group Name)' tRiteR &1
fSthice 71 T giar 8?2

Options :

1. % USERGROUP

2. ¥ WORKGROUP

3. * ADMINGROUP

4. % SUPERGROUP



Question Number : 23 Question Id : 25498919277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Every computer is identified by an IP address. Any IPv4 (Internet Protocol version 4) address is

madeupof _____ bits.
Options :

1. % 4

2. % 8

3.4 32

4. % 16

Question Number : 23 Question Id : 25498919277 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.% 4

2. % 8
3.4 32

4. % 16

Question Number : 24 Question Id : 25498919316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of HTTP with reference to internet protocols?

Options :



1. % Higher Text Transfer Protocol
2. ¥ Hyper Track Transfer Protocol
3. ¥ Hyper Text Transfer Protocol

4. ¥ Hyper Text Transitive Protocol

Question Number : 24 Question Id : 25498919316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ge¥e Uietehiel oh d& # HTTP o guf =u T 8?2

Options :

1. ¥ BIER o TiWR Hietania (Higher Text Transfer Protocol)
2. % BISW ¢oh IR Uiciahiat (Hyper Track Transfer Protocol)
3. ¢ BIEWR ¢ TIWR Hieiaiel (Hyper Text Transfer Protocol)

4. ¥ gREWR I gIf=ifea malaia (Hyper Text Transitive Protocol)

Question Number : 25 Question Id : 25498919370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the following binary number?

(1100000), = (__?_ )y,

Options :
1. % 256
2. % 192
3. %48

4. ¥ 96

Question Number : 25 Question Id : 25498919370 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAetfefEa sl §&T 1 GeTHed AT &1 672

(1100000), = (__?__ )1

Options :
1. % 256
2. % 192
3. %48

4. v 96

Question Number : 26 Question Id : 25498920703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A__ IP Addresses range from 128.0.x.x to 191.255.x.x.
Options:

1.+ Class B

2. % Class A

3. #* Class C

4. % Class F

Question Number : 26 Question Id : 25498920703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Uh IP TS89 128.0.x.X & 191.255.x.X &t AUl (range) & BT &1

Options :
1. ¥ &9 B
2. ® A A

3. % I C



4, % 9 F

Question Number : 27 Question Id : 25498922679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To enter and exit the full screen mode in modern browsers, you must press the key:
Options :

1. % H

2. % F10

3.¥ F11

4. % F13

Question Number : 27 Question Id : 25498922679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % F1

2. % F10

3. % F11

4. % F13

Question Number : 28 Question Id : 25498924298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How do you exit a BIOS setup?

Options :



1. % Press F2
2. % Press F3
3. #* Press F5

4. ¥ Press F10

Question Number : 28 Question Id : 25498924298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

39 BIOS Te3ry & hy a1ex Adhetd 82

Options :

1. ¥ F2 qdTeRR

2. # F3 gdrR

3. # F5 g

4. ¥ F10 qdmar
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Which of the following is NOT a memory management function of an operating system?
Options :

1. # It keeps tracks of primary memory.

2. ¥ It decides which processes are to be loaded into memory.

3. # It deallocates the memory when the process has been terminated.

4. *# It allocates the memory to a process when the process requests it.

Question Number : 29 Question Id : 25498924437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Options:

1. ¥ g uryffies AARY &l &b TG 8

2. ¥ g qU 1 ¢ fon foht ufcharatt ent AR H <its foham ST 81

3. ¥ ufchar QAT g1 WR I8 AFRY ahl g1 & 8

4. % S Ufehar SR1Y el 8 d g AARI ehl Y Ufehar # fATaT ear g1
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In hibernation mode, a computer will use:

Options :

1. % less power

2. ¥ high power

3. ¥ no power

4. ¥ medium power
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Options:

1. ¥ A UleR

2. ¥ I UieR

3. ¢/ i3 iR g

4. % gegd giar
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A___ consists of one or more web pages.

Options :

1. % hub

2. ¥ website

3. % story

4. # template
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Options:

1. % g4

2. ¢ 39913

3. ¥ &R

4, % dwie
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E-mail ____, is an act of sending Unsolicited Bulk E-mails (UBI) which one has not asked for.
Options :

1. # cutting

2. ¥ spamming



3. * copying

4. % sparing
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Options :

1. ® @ureAr (cutting)

2. « QfFT (spamming)

3. ¥ @idl AT (copying)

4. % Wi (sparing)
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Which of the following is a web browser?

Options:

1. ®* MSN messenger

2. * Yahoo messenger

3. ¥ Rediffmail.net

4. ¥ Netscape navigator
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Options :

1. ¥ MSN #%sR (MSN messenger)

2. ¥ grg A9SR (Yahoo messenger)

3. # fSwAe.Ae (Rediffmail.net)

4, ¢ Je&ny Afater (Netscape navigator)
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SDLC is an acronym of:

Options :

1. % Software Development Life Cycle

2. # System Decode Library Cover

3. # Software Decode Library Cycle

4. % Systematic Development Library Cycle
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Options :

1. ¢ Software Development Life Cycle (SitcatR SadUHc A3t Hlschel)

2. % System Decode Library Cover (&cH fSapie amgsit vaR)

3. # Software Decode Library Cycle (GTtediR [Shls wssil Qrgehal)

4. ® Systematic Development Library Cycle (R&#fée Saeade wssikl Qr5chal)
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Which of the following is the overall term for creating, editing, formatting, storing, retrieving and

printing a text document?
Options :

1. % Word processing

2. ¥ Spreadsheet design
3. ¥ Web design

4. # Database management
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Options :

1. ¢ a3 grafdm

2. % Grete e
3. ¥ a9 f&sirgA

4, ¥ 3IeY AASH
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What is the key combination to open the Find dialog box in MS PowerPoint?
Options :

1. # CTRL+O

2. ¥ CTRL+F

3. % ALT+F



4. % ALT+O
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MS PowerPoint & 'Find' SN dia ohl @ielt oh folg ot Tate a1 8?2
Options :

1. ® CTRL+O

2. ¥ CTRL+F

3. % ALT+F

4. = ALT+O
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What is the key combination to show or hide ink markup in MS PowerPoint during a presentation?
Options :

1. % ALT+I

2. % ALT+M

3. ¥ CTRL+M

4. % CTRL+I
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Options :



1. % ALT+I
2. % ALT+M
3. ¥ CTRL+M

4. % CTRL+I
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Which of the following is NOT a valid category of Area chart in MS Excel 2016?
Options :

1. % 3-D Area

2. * Stacked

3. % Radar

4. % 100% stacked
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Options :

1. % 3-D gRar

2. % ¥Fs

3. ¥ IER

4, % 100% Was
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For visual presentation of categorical data ______is suitable form of chart in MS Excel.
Options:

1. ¥ bar

2. * line

3. % XY

4. % surface
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Options :
1. ¥ dR
2. % ofrg
3. # XY
4. % gthyg
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Which of the following charts is used to represent trends of data in MS-Excel?
Options :

1.4 Line

2. * Pie

3. # Column

4, = Scatter
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Options:

1. % 4124 (Line)

2. % urg (Pie)

3. # @ia™ (Column)

4. % Thex (Scatter)
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In MS Word 2010, to use Spelling and Grammar option, one has to click on the and within

the ___ group click on "Spelling & Grammar™.
Options :

1. ¥ Home, Tracking

2. ¥ Review, Proofing

3. # Layout, Margin

4. ® Margin, Tracking
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Options :



1. ® g, ¢t (Home, Tracking)
2. ¥ &g, gfth (Review, Proofing)
3. ¥ warse, |ifsi (Layout, Margin)

4. % #oi, ¢fat (Margin, Tracking)
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Which of the following "Change Case" option is used in MS Word 2016 to capitalize the first letter

of a sentence and leave all other letters as lowercase?
Options :

1. % Capitalize Each Word

2. ¥ Sentence case

3. ¥ tOGGLE cASE

4. # Uppercase
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Options:

1. ¥ FfUeargst 39 g8 (Capitalize Each Word)
2. ¢ T¢g &g (Sentence case)

3. ¥ ZTeT hd (tOGGLE cASE)

4, % JRg (Uppercase)
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What is the absolute address of the first cell in an MS-Excel worksheet?
Options :

1. ¥ $A$1

2. % $A1$

3. % A1

4. % $13A
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Options:
1. % $A$1
2. % $A1S
3. % Al

4. % $13A
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Which of the following is NOT a valid type of paragraph indent in MS Word?
Options :

1. % Leftindent

2. * Rightindent

3. #® First line indent



4.+ Last line indent
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Options :

1. % 9rai g&¢ (Left indent)

2. ¥ grai g8e¢ (Right indent)

3. ¥ ¥ ATz ge¢ (First line indent)

4. ¥ T 13 §e¢ (Last line indent)
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Which of the following is NOT a valid line spacing option in MS Word 2016, under Spacing, in the
Line spacing box?

Options :

1. # 1.5lines

2. * Single line

3. #* Double line

4.+ Triple line
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Options :

1. % 1,579
2. % e g
3. ® S oz

4.  feuer ame
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In which command group the "Find and Replace" option are available in MS Word 20167?
Options :

1. # Paragraph group

2. # Styles group

3. * Font group

4. + Editing group

Question Number : 46 Question Id : 25498910691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % &Rk gu A

2. % WA qu d

3. ¥ plcqgud

4. ¢ g qu A

Question Number : 47 Question Id : 25498911463 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Raghu's company's name includes Ltd. Word will automatically capitalize any word following the
abbreviation. To prevent this capitalization in MS Word that supports Tools option, he must add
Ltd. to the AutoCorrect Exceptions list.

Arrange the following steps in the correct order.

a) On the AutoCorrect tab, click the Exceptions button.

b) Go to Tools AutoCorrect Options.

¢) Click Add, and click OK twice.

d) Under the First Letter tab, enter Ltd. in the Don't Capitalize After text box.

Options :

1.¥Db,a,dc
2. % Db,a,¢d
3.%#Db,cad

4. % b, c,d, a
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Options :



1.4 Db,a,d,c
2. % Db,a,¢cd
3.% Db,ca,d

4. % b, c,d, a
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In MS Excel, layout is useful when you want to reduce the pivot table width and aren't

concerned about the Row field headings.
Options :

1. # Tabular Form

2. * Outline Form

3. ¥ Compact Form

4. % Design Form
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Options:

1. ¥ SHR ®BIH

2. ¥ T3S GIH

3. ¢ GIae thid

4. % fSSirs wid
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When you use a table as source data for a PivotTable, Excel will automatically expand and shrink
the table as you add or remove data, so your PivotTable will always stay in with your data or

updated automatically.
Options :

1. % copy

2. * replace

3. ¥ sync

4. % encode
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Options:

1. % it

2. % §ao-l

3. v &=

4. % Gl
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Options :

1. % CTRL+Up Arrow

2. ¥ CTRL+[

3. ®* CTRL+Down Arrow

4. %= CTRL+]
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How to decrease the size of selected text by one point in MS Word?
Options :

1. * CTRL+Up Arrow

2. ¥ CTRL+[

3. % CTRL+ Down Arrow

4. % CTRL+]
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Options :

1. # VoIP

2. ¢ difeat i-thidT
3. # gr3fE

4, ¥ T3 LT
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Communication of two or more parties in real time using networked video and audio is called:
Options :

1. #* VoIP

2. ¥ Video conferencing

3. * Browsing

4. * Downstreaming
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How do you display current date only in MS Excel?
Options :

1. % DATE()

2. ¥ TODAY()

3. % NOW()

4. % TIME()
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Options :

1. ¥ DATE()
2. ¥ TODAY()
3. * NOW()

4. * TIME()
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Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Hercules

Hercules was a Greek hero. The Romans called him Heracles. He was known for his great strength,
courage and intelligence. He was half God and half man. He was the son of the Greek God Zeus
and princess Alcmene. The King of Tiryns did not like Hercules. He gave him twelve difficult tasks

to perform. If Hercules failed in the tasks, he would have to serve the king for twelve years.



One of the tasks was to clean the huge stables of Augeas, a city in Greece. Augeas had many cows,
sheep, horses and goats and the stables had not been cleaned for many years. Hercules was
asked to complete this task in one day only. It was an impossible task, but Hercules was not an
ordinary man. Using his strength and intelligence, Hercules dug drains inside the stables from one
end to another end. Then he dug a drain till the river so that river water flowed through the

stables. The stables were cleaned up in no time.

One of the tasks given to Hercules was to capture a fierce bull which had been killing the people of
Crete. The people of Crete worshipped bulls and therefore, could not kill it. Hercules went in
search of the bull. When he found it, the bull threw its head down in order to attack Hercules.
Now, when the bull was not looking, Hercules, caught it by its horns and threw it on the ground.

He then tied the bull and carried it back to King Eury.

Hercules went on many more adventures through his life. He was a hero who helped people and

killed monsters for them.

Sub questions
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Who was Hercules' father?

Options :

1. * The King of Tiryns

2. # King Eury

3. ¥ The God Zeus

4. * Heracles
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The King of Tiryns gave Hercules difficult tasks to perform because:
Options:

1. * he wanted to test his strength

2. ¥ he did not like Hercules

3. * he wanted him to work as his slave

4. % he was half man and half God
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If Hercules failed in any of the tasks, he would haveto __
Options :

1. # clean the stables of Augeas

2. * capture the fierce bull

3. ¢ serve the king for twelve years

4. *# dig drains inside the stables

Question Number : 56 Question Id : 25498921059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

We can say that Hercules was not only strong but also kind because:
Options :

1. % he killed monsters to save people

2. # he had an adventurous life

3. * he could perform twelve difficult tasks easily

4. % he caught the bull by its horns and captured it

Question Number : 57 Question Id : 25498921060 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Hercules demonstrated all of the following traits, EXCEPT:
Options :

1. * bravery

2. ¥ strength

3. ¥ cowardice

4. #* intelligence
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4. % gheyq

Question Number : 54 Question Id : 25498921057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TR & ST A EXRe 1 ot Jfhel A A & foig fay wifen |

Options :

1. % gg IGch! dTchd ohl URIETUT ST AT AT
2. ¢ 98 g ohl UG gl el ol
3. ¥ gg g1gdT o foh 98 I9h & o ¥4 H HH e

4. % Tg T AT 3R ATLT g AT

Question Number : 55 Question Id : 25498921058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g gxargetta forelt oft o F fahet <gan &, ot 3@ |



Options :

1. % I T RASTA T heAT SHTT

2. % HT AT Y UehgHT NI

3. ¢ 9Rg gyl o forg ST Y Jar et gt
4. % 3RS e e ATel @resT gt

Question Number : 56 Question Id : 25498921059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&Y hg Tchd & foh BYRICIE -1 chadl RITharTel! dfcsh aarq AT ordlfer |
Options :

1. ¢ I At S & fT &) ol AR ST

2. % IqapT Sita ATgi o

3. ¥ 9g IRE hidH il el STHTHT § R HehdT AT

4, ¥ I+ T F S ot UehaT SR I g fora

Question Number : 57 Question Id : 25498921060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

WA A ! Steax MEtarad guf o7 gefia iyl
Options :

1. % gl

2. %® drehd

3. ¥ raxdl

4. % gfgwar



QUANTITATIVE APTITUDE

Section Id : 2549896761
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896802
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?

(You are not expected to calculate the exact value.)

1299 +19.99 x 25.01 + 400.01 =72
Options :
1.+ 2025
2. % 2300
3. # 1925

4. % 2200



Question Number : 58 Question Id : 25498914306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

vl Wea & 9o et (7) & TR W HATAe A1 a0 g Age? (3T T A A
TR G F B

1299+ 19.99 x 25.01 + 400.01 =?
Options :
1.« 2025

5 % 2300
5 % 1925

4 % 2200
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By solving the two equations numbered I and II we get:

I. x2+4+11x+30=0
I y*+7y+12=0

Options:



4. 8 X =Y
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| x*+11x+30=0
I y2+7y+12=0
Options:

1. X>Y
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What approximate value will come in place of question mark (?) in the following question?
(Note: You are not expected to calculate the exact value.)

8787 + 343 x /50 = ?

Options:

1. % 250

2. % 140



3.+ 180

4. % 100
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Options :
1 % 250

5 % 140
3 v 180

4 % 100
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What approximate value will come in place of question mark (?) in the following question?

(Note: you are not required to calculate the exact value)

229889 +?=23
Options :
1. % 23

2.9 1



3. % 232

4. % 24
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229889 +7=23
Options :

1. % 23
2.9

3. % 232

4. % 24

Question Number : 62 Question Id : 25498928976 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Salim takes 8 days to finish a piece of work. Manoj takes 12 days to finish the same piece of work.
Raj works twice as fast as Salim. How many days will all three of them together take to finish the
same piece of work?

Options :

23
1% 11
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Options :

3
T
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The sum of the three consecutive positive integers is 93.

The greatest among the three numbers is



Options :
1.9 32
2. % 30
3. % 29

4. % 31
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1.4 32

2. % 30

3. % 29

4. % 31
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Study the given series of elements (letter-number-symbol) and answer the question that follows.

Every two-digit number (given in brackets) is to be treated as a single number.

2*856B9%$Q3E17RD4E£(13)U@K(18)A(14)P

If each alphabet has a value of zero, each symbol has a value equivalent to the square of the
numeral that immediately precedes the symbol or the value of 1 if it is not immediately preceded
by any numeral, what will be the sum of the values of the first 10 elements of the series starting

from the left end?
Options :

1. # 46

2. %79

3. % 107

4.4 118
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Options:

1. % 46

2. %79

3. % 107

4.4 118
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Find out how many such pairs of letters are there in the given word each of which has as many

letters between them in the word as in the English alphabet.

CHILDREN
Options :
1. * Two
2. #* Three
3. % Four

4. % Five

Question Number : 65 Question Id : 25498912871 Question Type : MCQ Option Shuffling : Yes
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CHILDREN
Options:
1. %

2. % 9
3. ¥ IR

4. % U
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In the following pair, find two words related to the words already given - one word for each of two

related pairs.

[ : Transaction :: Language : II

L. (1) Money (2) Loan (3) Contract (4) Agreement
I1. (A) Region (B) Media (C) Conversation (D) Scholar

Options :
1. % 4A
2. % 2B
3.¥1C

4. % 3D

Question Number : 66 Question Id : 25498918982 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A rea-grt & fog [ a7 11 Udeh 9§ Ueh-Ueh 206G T 99 e Sch %0 Tal fdehed Tl Ia- hifig|

I:e=-37 :: omeT: 11



L (1) & (2) 0T (3) srgeier (4) Tgwfa
I1. (A) &4 (B) #1ez® (C) darg (D) fage
Options :

1. % 4A

2. % 2B

3.¥1C

4. * 3D
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In a certain code language, if

‘A$B’ means ‘A is the mother of B’
‘A#B’' means ‘A is the father of B
‘A@B’ means ‘A is the husband of B

‘A%B’ means ‘A is the daughter of B, then how is K related to G in the given expression?

G$SM@EK

Options :

1. % Daughter-in-law
2. ¥ Mother-in-law
3. * Daughter

4, # Aunt
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Correct Marks : 1 Wrong Marks : 0
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Options :
1.¥ 3§
2. % 99
3. ® gift
4, ¥ i
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.
Options :

1. % Vital

2. ¥ Essential

3. ¢ Optional

4. % Crucial
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Options :

1. # Sttt

2. % g

3. ¢ depfcleh

4, % IJArdch
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Misogamy : Marriage :: Misogyny : ?
Options :

1. % Children

2. ¥ Husband

3. ¥ Relations

4, + Women
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1. 8 5

2. % ufq
3. % g9y
4, « wfger
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Which of the following is NOT a public sector unit / undertaking (PSU) agency as on August 2021?
Options :

1. ¥ ECGC

2. * SEBI



3. % SIDBI

4.+ Axis Bank
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Options:

1. * &St (ECGQ)

2. % 9dff (SEBI)

3. ¥ ggangSidians (SIDBI)
4,  gfRTg s
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Which of the following statements is INCORRECT?

Options :

1. ¢ India's National Song Vande Mataram was composed by Bankim Chandra Chatterjee
originally in Bengali.

2. # The National Calendar of India based on the Saka era has its 1st Chaitra on 22nd March
normally and 21st March in a leap year.

3. # The design of the National Flag of India was adopted by the Constituent Assembly on 22 July
1947.

4. # The song ‘Jana-gana-mana’, composed originally in Bengali by Rabindranath Tagore, was
adopted in its Hindi version by the Constituent Assembly on 24 January 1950 as the National
Anthem of India.
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Ranji Trophy is associated with:

Options :

1. # hockey

2. * football

3. ¥ cricket

4. % padminton
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Options :
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2. ® pedid
3. ¢ fohohe
4, % gsfieqa
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Match the columns.

Persons Organisations
A. Anil Agarwal 1. Gujarat Heavy Chemicals Ltd.
B. Gautam H Singhania 2. Raymond Ltd.

C. Sanjay Dalmia 3. Vedanta Resources
D. Venugopal Dhoot 4. Videocon Group
Options :

1.*A-3,B-1,C-2,D-4
2.%A-4,B-1,C-2,D-3
3.A-3,B-2,C-1,D-4

4. % A-4,B-2,C-1,D-3
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Options :

1. A-3,B-1,C-2,D-4
2.%A-4B-1,C-2,D-3
3.vA-3,B-2,C-1,D-4

4. % A-4,B-2,C-1,D-3
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Where is the Indian Institute of Sugarcane Research (IISR) situated?
Options:

1. * New Delhi

2. % Varanasi

3. * Kanpur

4. % Lucknow
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When the Court is of the opinion that a lower court or a tribunal has passed an order which is
beyond its powers or committed an error of law then, through the writ of , it may transfer

the case to itself or quash the order passed by the lower court or tribunal.
Options :

1. #* Quo Warranto

2. ¥ Mandamus

3. ¥ Certiorari

4. % Habeas corpus
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Yoga is popularly known as a great stress reliever. Yoga combines many popular stress
reducing techniques that includes exercise and learning to control the breath. As yoga
becomes increasingly popular, more and more people are discovering the benefits yoga
brings to their stressful lives. Maintaining a consistent yoga routine is the best way to
experience the difference yoga can make. The following stress management yoga routine is
intended for beginners who think they do not have time for yoga. Exercise. Hatha Yoga is
the physical practice of yoga postures. There are many different types of hatha yoga. Some
are slow and more focused on stretching and others are fast and more of a workout. If you
are looking to relieve stress, no one yoga style is best. So pick one that meets your level of
physical fitness and personality. Any exercise will help relieve stress by keeping the body
healthy and releasing endorphins, natural hormones that make you feel better. Yoga also
relieves stress through stretching. The stretching of yoga releases tension from problem
areas and that includes the hips and shoulders. Relief of low back pain is another common
benefit. Breath Control. Pranayama or breath work is an important part of any yoga

practice. Also, yoga increases your awareness of the breath as a tool for relaxing the body.



Although breathing is a compulsory act, you have to keep doing it to stay alive, you can
choose to manage the breath. Just learning to take deep breaths and realizing that this can
be a quick way to deal with stressful situations is amazingly effective. Clearing the Mind.
Our minds are constantly active, racing from one thought to another, comparing possible
scenarios for the future and thinking about the incidents from the past. All this mind work is
tiring and stressful. Yoga offers several techniques for managing the monkey mind. One is
breath work as mentioned above. Each breath is tied completely to the present moment.
You are not breathing in the past or the future, but only right now. Focusing on each inhale
and exhale to the exclusion of other thoughts is one way to clear the mind and It is also a
basic meditation technique. In addition, the performance of yoga poses or asanas also acts
as a form of meditation. The poses are so physical and have to be done with such
concentration that all other thoughts and worries are put to the side, giving your brain a
much needed break. Relaxation. Each yoga sessions ends with five to ten minutes spent
relaxing in corpse pose, savasana. While this relaxation can be difficult at first, in the end it
will serve the purpose of a total release for both body and mind. Savasana transitions take
you back to the world of feeling refreshed and equipped with the tools to manage stress in
your daily life. Yoga Nidra is a practice that offers an opportunity for a longer and deeper
period of relaxation and an introduction to meditation which can also be a great stress

reducer.
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